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ECONOMICS
(Economics of Growth and Development-I)
Paper : MAECO-302
(In All Mediums)
Time : 3 Hours] [Max. Marks : 80

Note — Attempt five questions in all, selecting one question
from each of the four Units. Question No. 1 _is
compulsory. ;

(Compulsory Question)
1. Answer any ten from the following in brief (25-30
words each) :
(1) What is capabilities approach to development ?
(i) How is knowledge measured in latest HDI ?

(iii) Why are inequalities considered to be bad for

development ?
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(iv) What are the five types of innovations suggested
by Schumpeter ?

(v) What are the implications of vicious circle of

poverty for economic development ?

(vi) What is the role of values in economic
development ?

(vii) Differentiate between capital widening and
capital deepening.

(viii) What is the cause of underdevelopment
according to the Centre-Periphery theory ?

(ix) How does division of labour increase labour

productivity according to Adam Smith ?

(x) How is Ricardo’s concept of ‘natural wage’ an
improvement over Smith’s concept of

‘subsistence wage’ ?
(xi) What do you mean by Surplus Value ?

(xii) What are the characteristics of Rostow’s Age of
High Mass Consumption ?

(xiii) What are SDGs as adopted by UN ?

(xiv) What are the important core CSD indicators of

Sustainable Development ?

(xv) What is Population Pessimism ? 10x2=20
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Unit-I

. Differentiate between economic growth and economic

development. What are the major objectives of

development ? 7+8

Discuss the evolution of HDI as a measure of

economic development. 15
Unit-II

. Do you agree that many developing countries are

caught in a low level equilibrium trap ? How can

the come out of this trap ? 1045
. What are the characteristic of a dualistic economy ? ‘
Discuss the major types of dualism. 7+8
Unit-11I

Elaborate Marxian views on the process of economic
development. Why is the downfall of capitalism
inevitable according to Marx ? 9+6
. Explain the central role of entrepreneur in
Schumpeter’s theory of economic development. 15
Unit-1V
. Trace the changes in world population in the last
two centuries. 15
. Briefly discuss the main arguments for and against
the idea that population growth is a serious problem
in developing countries. 15
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et e s
Fz - g drE e F IW A T ¥ T T
H SW W g g 1 e R
(faE wv)
1. 5 <@ yel & IW HAY A (25-30 =) HfSw
() fowm &1 gwa gfewm =1 T 2
(i) ToFad HDI § 99 & w91 S 2
(ﬁi)ﬁmm%mmaﬁﬁgumﬁmm
®?
(iv) YR BN gE MY TEER & Ui YER @
g2
(v) o faem & fau wst & gous @t A=A
FM ¥ ?
(vi) onfde fowm & godi =t yfiem 70 € 2
(vi) It foear aor Ioft TewE H oW &yl
(viii) YUR-THG fagra & AR TafawE w1 F0
FRO T ?
(ix) Tew f@g & guR oW fausy ¥ oW SaREa
H HY TP § ?
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x) Tl 1 ‘wipfas a9’ ®i stauren fag #i
Sam frafe Aol tauRn ¥ Ifys GUIES
QT ?

(xi) 99d Jed ¥ Y F T T ?

(xii) VDT B S W Sud w g R g
FM g ?

(xiii) TA. TR AYA T SDGs ¥ & ?

(xiv) Gaq_ foa & CSD ¥dhasi & Aew@qUl ®HR

g2
(xv) SHEE fRemER w1 § 2 10x2=20
FHE-1 |
2. of¥r gfs au e fowm # s wawmw fowm
& TIE Sy Hl § ? 7+8
3. e fow@ & A & ®9 d HDI & (o™ &
U Hifea | 15
FeTs-11 ’

P

F Y Feud ¢ % wga ¥ fawmia @ M ww)
Tgeq 9 A Y ¥ ? 3R T IW ¥ W R

frepem w1 G ® 2 10+5
5. e rdoqawer &t favivand w1 ¥ ? fUeR & W@
JHRI 1 TUA T 7+8
GO (|

6. 3 fawm@ #t dfew w ool & fouri + fawafa
Hif | g & FER ouferd Yeiag # v Hi
MR ? 9+6
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7. PR & i faem & fagr # sat &t 51

yfihr &t e st
gaTe-IV

8. sfm <t vaifscdl # fava sHwem # afeds &1 faaw
ST |

9. fomrasiie <uil # SmEE gfs & ™R wHEn 13w
foer & uy qw fauy & yg@ dl @ Gfyga 9o
Hifera |

dAreEt Hrfomd
32 1 % UA yHst @ A<y o€ | g9 £y fearst 3
fTayms o e fe€ | yas & 11 &=t T |
FEHT YAS
1. far &/ yFst € Aew Ay €9 25-30 Aaef €9
ek :
() feam v ANTE ferdiaes &t 3 2
(i) =<ta3H HDI feT fomis fa=® fufenr wer 3 2
(iii) ;ewme‘fmma?_j%?%@mnw
?
(iv) Eites enrgr FSEm ot Je @ U9 yag of
J57?
(v) »rIfEx feam Bt atEt © TH-T T ot Ha3Tel
ot I8 ?
(vi) »afEx feam feg Wt & o giiar I ?
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(vii) yH ferag »3 yH afgeet e <9x TR

(vii) AZI-UdIedT fAUt3 @ nisHS nidsy fearm =7 ot
G5 I 7

(x) ¥3W AfiE T nigAg fHoss fegms & fHoss
GzuwazT § fav =ufen 3 7

x) foges & ‘yfgsa vagdt” &t uge AfHg @
ies JATTT HAgd! U9e 3 fimfer AUISHA
faz 3 7 :

i) FOS UG I A S AN T ?

(xii) ree @ €%t w9 wusae @t 8wg Tt
fermz=t ot 95 ?

(xii)) G.AE. AT nUTE € SDGs St I5 ?

(xiv) AedT fea™ T BF AA3T € HY 3°YIE CSD HEX

ot T ?
(xv) AGHfEMT fagmee ot T 2 10x2=20
fearet-1
2. migfax fedt w3 »iafax feam f&'s g9 ©F |
feam T yyy Gem at 0% ? 7+8
3. nidfax fearm © WU ¥ QU &9 HDI © 8efeam =
TIE5 AT | 15
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feargt.In
. ot 3t AfoHz I 17 793 A3 feamrts ¥F fors uae
356 7% feg en IT ? fegt § fem 7 3 g09

fa2 afenr A AeeT I 2 1045
. TIITE T THI Tnit feREsT=T o I8 ¢ TS
T YHY YISIT T T9E5 A9 | 7+8
fearet-111

. viafEx feam & yfgur €3 wgam @ fegat &
ferafos a9 | HIaR ¥ nigAT I Ul &
U35 faf gfenr 3 ¢ 9+6

- 7. W23 € niefax feaw © fRu’3 &g Gut & dedt

givar €t fenrfimr a9 | 15
fearet-Iv

. nitg € 3t €9 feme AeRfimr fog sadiat

T fasss &9 | 15

. feamrts ent &9 Aerfinr fedt dite aefr 3

fer feg9 @ Uy w3 feddt Uy &9 Yy 39at

oy 2985 9 | 15
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